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QUESTION 1

Which icons are a standard representation for an actor? (Choose three) A. Option A 

B. Option B 

C. Option C 

D. Option D 

E. Option E 

F. Option F 

Correct Answer: ADF 

 

QUESTION 2

In the exhibit, which best describes the relationship between the two use cases: 

Use Case A and Use Case B? 

A. Use Case A extends Use Case B. 

B. Use Case A includes Use Case B. 

C. Use Case A generalizes Use Case B. 

D. Use Case B extends Use Case A. 
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E. Use Case B includes Use Case A. 

F. Use Case B generalizes Use Case A. 

Correct Answer: B 

 

QUESTION 3

A property is a feature that can be represented in what ways? (Choose two) 

A. as an association 

B. as an association end 

C. as an attribute in a class 

D. as an operation in a class 

E. as an indication of whether the feature is public or private 

Correct Answer: BC 

 

QUESTION 4

How many diamond shapes can appear in a well-defined activity diagram? 

A. exactly two 

B. any number 

C. an odd number 

D. an even number 

Correct Answer: B 

 

QUESTION 5

Let us denote sending of p as !p and receiving p as ?p. Which traces define the interaction M in the exhibit? (Choose
two) 
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A.  

B.  

C.  

D.  

E.
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